EAGRAROBREERT — 2 N— ABISH —F

2021528170 (K) 17EAF#3H

U 7R —M C3Xt

(xwlw | mEmml - |5 ) o s

[AE4£] 1 % :800,000 @ 23 :320,000 0

3 7&:200,000 @ 4 3% :120,000 M 5 & :80,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
K 4 4 | BARE 1:44.6 5-5-4-4 | 40.9| — 3 467 | FILEEEE (KH)
1111 2—=>7 56.0 =) (g) | LB
Rix>indao— B:NZIN * R
, . 79 44 -1-1- 5| = BREE= (k)
oY 3| B bTL A= # 5 | B Ry e ° (4285) RE{EX
R:TY—ZTLAN— BAFYITAO PN e
o — > 4 | EEXH 1:44.9 7-7-5-5 | 41.4| — 2 516 | SciUBSIE (/vi)
31712 NZhT7A b - 56.0 (1/2) 48) HE—
A:Medaglia d’0ro B:T7A1IKIA4 2K HET7—L
5 #o4 | BEF 1:45.2 8-8-9-9 |41.5| — 1 438 | WATER (RH)
algliz TR 56.0 (4 3/4) Chy | NBEA
:0-KAp+0O7 B:Y>RITVa (B) #B8a—-FL—>a>@qE77
i 4 | REHEZ 1:45.4 5-6-7-8 | 41.7| — 5 482 |HHAZE (KH)
5 »a3 50 " @ | BT
LAWK Bk Tr—TzA BH FE
. o ETEREA :45. -13-10- . — dEFE (k)
6 NIV K27 H— "E 50 aw IR ° f_?) M
LNNVTTY BirAO—X THES
—: s 7 | BHEE 1:45.7 11-10-7-7 | 42.0| — 4 433 | AfRABE (KH)
7 Y bTa =Y 54.0 (1 3/4) ) | (B BE®
L7458 B:FaA—H PR RS ¢l
. = MEEA . -3-3- - SR (KH)
8 <Y /70O 547 i 5 e (11.4:?/.40) 3-3-3-3 | 42.7 12 (4:33 YIS
LY LFAN—b B:ax/v—HLy b 777 BERS
= . R 5 146. 02— . — FRAN—5R (KFF)
9 HIS5HLL X 4 8 54_0m 1(/4:35) 2-2-2-2 | 42.7 10 (4_671) S
LiFLNTyTFIE B:5TRY—L4 AEKE
s 5 | EEEEX 1:46.2 12-12-11-11{ 42.0 | — 14 | 431 |EEE (KH)
1oy i0l A7V /FEF 54.0 (3/4) © L(*;k) Jp—RREY T
L:ixrivd/xtxF BNIbEZYRILR e
o i 7 | FEfES) 1:46.3 4-4-6-6 |42.9| — 7 447 | RERE (KH)
1117111 o14viveE> 54.0 (1/2) (-10) FEHOLH
L:d—IRA1O—- B:E>7Oq4vIL IR A2
s — P AHS E AR : -11-12- — BEER (KH)
0 o |2t Ny—=72 6| FHE 1(.14;52.)4 10-11-12-12| 41.8 1 (5_110) eﬁ@w
R:VPRYTYRIR B:RH—Ly bRE— HET7—L
s st 4 | SHEK 1:46.6 9-9-13-13 | 41.7 | — 13 | 494 |EEEE (KH)
13/8|14| ML ATV 56.0 (1 17) Chy | R
R:T—%ZA M= BUF2ITUZXR Y1 FHIS
S o4 | BEX 1:49.3 13-14-14-14| 43.2 | — 8 497 | FLEBLZ (KFH)
145/ 8| M) 37 0y F 5.0 (519 C10) | XESE
L:bh=—t>TF4 8 Bibh—tXyY ElREH IXF1T77—A
® 1 —F—@EBIERL
1T=7r= 3,6,7,11,(1,5),12,13,14,2,9,10,8,4
23—+ — 3,6,7,11,1,5,12,13,14,9,2,10,4,8
Ja=9= 3,6,7,1,12,11,(5,9),13,4,10,2,14,8
40—+ — 3,6,7,1,12,11,9,5,13,4,10,2,14,8
[ N5
B 1 670M 714K 1-3 3,530 e E 1-3 6,350 JEE 1-3-12 20,840/
B B 1 1704 1-12 460M e B =3 9,800 3EE 1-3-12 183,000
3 680M 3-12 3,150/ B & 1-3 19,880M
12 1909 B H 1-3 32,120M

ARICOVWTRDTEEERROODE. TR LI,




